JINHrBUCTYKA - TEOPUA A3bIKa

Bonpoc MHd)O

YBarkaeMble yHaCTHUKN!

OnvMnuagHoe 3aZlaHne Nno HamnpassieHUto «JIMHFBUCTUKA: TEOPUS S3blKa» COCTOMT TOJIbKO U3
WMHBApMaHTHOM YaCTW. DTO 03HAYaEeT, YTO BaM HY>XHO MOCTapaTbCs PELMTb BCE 3aa4M U OTBETUTb
Ha BCe BOMpPOoChl, 4Tob6bl NpeTeHA0BaTh Ha NPU30BbLIE MecTa.

Bce 3aaHuns BbIMOJHAOTCA B 3TON CUCTEME: pewieHna BHOCUTe B CcneunasibHOe noJsie gns OoTBeTOoB.
Bbl MO)XeTe NoJsib30BaTbCA YEPHOBUKOM (B Ka4decTBe YepHOBWKa pa3pelleHOo NCnoJib30BaTb YNCTbIE
NNCTbI 6yMar|/|), HO Ha NPOBEepPKY OH He NpenbaBnseTcs. XKesiaTeslIbHO B KOHLLe COCTA3aHnA
NMOKa3aTb Y4ePHOBUKWN Ha KaMepy.

Ncnosib30BaHMe CTOPOHHUX PEeCYpPCOoB U CMPaBOYHbIX MaTepranoB CTPOro 3anpeLLeHo.

Bepwum B Baww ycnex!

Bonpoc]
Bbann: 35,00

Interrogation Room Task

“But now in vain is the torture / Fire shall never avail / Here dies in m y bosom / The secret of Heather
Ale!

The Legend of Heather Ale, by Robert Louis Stevenson

(illustrations by Sophia Martineck)

A number of people forming a spiritual group of non-resistants ( neprotiviyentsy) have been taken
into custody. Before they have been put each into his or her own solitary cell, they all have been kept
in the interrogation room and could interact. They noticed that the interrogation room had a non-
functional radiator which however had a tap that could be put into one of the two positions - vertical
or horizontal; no other position is possible. The prisoners knew that, after they would be separated,
they would be taken to the interrogation room one by one so that it would be easier to crack on
them. They also knew that the favorite way of interrogation is to leave the prisoner alone in the
interrogation room in the middle of the interrogation for indeterminate time. As a result, they would
be capable of changing the position of the tap. It is known that the jailers never touch the tap.
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JInHrBncTMKa - Teopus Asbika
The prisoners were told that some of them cracked and withessed against the others and would be
released immediately, while the others would be kept for further interrogation (another favorite
approach to crack a prisoner). After each of them was sent to his or her cell, they started to be taken
to the interrogation room, one at a time, and then left alone for a time sufficient to change the
position of the tap without raising any suspicions.

Suggest a strategy so that at least one of them at a certain point would be able to conclude that all
of them have been taken to the interrogation room at least once after they were separated* **:

a) if they remember the position of the tap when the group was taken away from the
interrogation room to be separated

b) if they do not remember the position of the tap when the group was taken away from the
interrogation room to be separated

Some specifications.

1. There is no order or time rule for interrogations: interrogation may be made at any time of the
day, several times a day, members of the group being interrogated in random order, including
the same member of the group several times in a row

2. There is only one interrogation room, so all members must be taken there for interrogation into
this single room.

3. Nobody except the members of the imprisoned group of non-resistants change the position of
the tap.

* In this way, he or she would know that the jailers have lied: no one has in fact cracked and was
released.

** As just one example, imagine there are only two people, one of them comes to the room,
remembers the position of the tap but does nothing to it. Next time that he or she visits the room, in
case the tap position has changed, he or she could conclude that the only other member of the
group has been interrogated, and that all visited the interrogation room. Remember: you should
suggest a strategy that would work for any number of people in the group.
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Tee-to-tee-

..ta-too

In a northern Russian dialect, a very frequent form is an enclitic* =tV, a discourse particle which is
cognate to the Standard Russian =to. Examples of its use in the dialect follow (the orthographic
representation of the dialectal phonetics is used for the sake of simplicity).
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JInHrBNCTYKA - TEeOpUA A3blKa

(1) AVMI1928
A Kar-a=ra c AsaauyaTb BOCbMOIO.
and Katja-Nom.Sg=Ptcl from twenty eight-Gen

‘As to Katja, she was born in 1928

(2) MPS1935
BaH-s=Ta He XeHaT-d.
Vanja-Nom.Sg=Ptcl not married-Short.Nom.Sg

‘Vania is not married.’

(3) MPSI1935
A, MOCT-D =0T .. JaBHo, HO A He  [OMHI0 Korga BeJb .
and bridge-Nom.Sg=Ptcl long.ago but LNom not rememberlSg when then

"Huh, the bridge.. (it was constructed) long ago, but | don't remember when.’

As examples (1)-(3) show, unlike the particle =70 in Standard Russian, the form of the dialect
particle depends on the wordform it attaches to. This is why it is sometimes called agreeing**
particle. The following table illustrates how the form of the particle depends on its host*.

Ist Ist declension 2nd 2nd 3rd declension
declension declension declension

Nom.Sg | xeHa=Ta BaHs=Ta oTeu=oT BUHO=TO MaTu=Tta
Dat.Sg )KEHe =To BaHe=T0 oTUY =Ty BUHY =Ty MaTtepu=T1o
Acc.Sg | XeHy=Ty BaHwo =Ty oTya=t1a BWHO =TO mMaTepb =Ty

‘wife’ (masculine ‘father’ ‘wine’ (neuter) | ‘mother’

personal
name)

Table 1. The forms taken by the particle with the hosts using allomorphs*** from different declension
types (a fragment of the full paradigm)

a. Explain the assumptions of the agreement analysis of =to and one of the fundamental theoretical
principles of (many) linguistic models that is violated by this interpretation of the data, with
reference to the problematic cells in Table 1.

(Note that even if you do not know the principle itself, the information in the task is enough to
formulate it. If you do not know any of the italicized terms used, consult the notes below.)

b. Think of alternative analyses that could account for the data and would avoid violating this
principle****,

* A clitic is a segment that forms one phonetic unit (phonetic word) with a word (called its host) but
is not a suffix of this second word; rather, it is an independent word on its own. In written language
the clitic and its host are often written separately (To/ xe) or with a dash (cam-T0), but occasionally
also in one word (HeraCMBbu/“l). In scientific transcription, to distinguish clitics from suffixes, the =
sign is used instead of the morpheme boundary sign - (cf. examples 1 and 2 above). A clitic is @
syntactic unit (a word), not a morphological unit (suffix): its position is determined by syntactic
rather than morphological rules. A clear example of clitics are (most) prepositions in European (and
many other) languages. Thus, English toin to me or Russian k ‘towards’ in k My>4YuHam ‘to men’ are
clitics. Indeed, on the one hand, they are not phonetically autonomous words (e.g. do not carry their
own stress). On the other, they are words for the purposes of syntax, because their position is
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JInHrBncTMKa - TeopUus A3blka
determined in terms of syntax (the leftmost element of the noun phrase) and not in terms of
morphology (the leftmost element of the word, which would make them prefixes); cf. to these men
or K 3TuM My>x4uHaM. Finally, an enclitic is a clitic that follows its host; like English ve (from have) in
I=ve been there or Russian x (a reduced form of the discourse particle xe) in 5= Tam 6bi1.

*** Here (and also in most theoretical frameworks) agreementis understood as a morphosyntactic
process whereby one word (called target of agreement), assumes different morphological forms
depending on the values of certain categories (called agreement categories) of the other word
(called controller of agreement). It is this approach to agreement that must be used when
answering (a) and (b).

An example of agreement is English:

he[Controller: 35g] sleep-s [Target: 35g]

(as opposed to they|Controller: 3PI] sleep-@[Target: 3PI])

or Russian

mepTB-bix|[Controller: Gen, Pl, (M)] congat-@ [Controller: Gen, Pl, (M)]

(as opposed to mepTB-oMy[Target: Dat, Sg, M] congaT-y [Controller: Dat, Sg, M])

*** Allomorphis a realizational variant of a morpheme which is fully dependent on the context of the
morpheme within the domain of the morphological word. Thus, the Standard Russian prefix [s-/ is
realized as [s] in c-smTk ‘pour down’ ([slit]]), as [z] in caaTs ‘rent, give away’ ([zdat']) and as [sa] in
corHaTb ‘chase down’ ([sagnati]). In nouns, the nominative singular is realized as [-a] with stems of
the first declension under stress, as in pyk-a ‘hand’, as [-a] with stems of the first declension if not
under stress, as in naTk-a ‘heel’, but as zero with the stems of the third declensions and the
masculine stems of the second declension, as in 6poss ‘eyebrow’ and soJioc ‘hair’; and, with the
neuter stems of the second declension, as [—o] if under stress, as in nie4-o ‘shoulder’, and again as
[-3] if not under stress, as in Bek-o ‘eyelid’ (cf. also KaTs, BaHs, mocT in the examples above).

**#** This question is open and does not necessarily have a fully satisfactory answer. If you venture
an answer, provide clear arguments in favor (and, eventually, Ggoinst) it. Note that it has to address
the problem you described in your answer to the first question.
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